


AL-KO Concrete mixers TOP 1402 HR - 112110 - Year of 
manufacture 01/2002 
 
301127 SHIM

301144 MIXING IRON

301180 HANDLE - NLA @ 16.03.01

700339 WASHER - USE 304030

523983 HAND WHEEL 8-ECK. (523983)

522775 AXLE BEARING

312001 CAPACITOR

348024 SCREW KB 60X16

511151 WHEEL - MIXER

516876 HALF CASING BACK

516877 HALF CASING FRONT

51687910 DRIVE DISC

516880 DENSITY ELEMENT SK2

516881 BELT

517312 BRASS BEARING

517840 ISO-SCREW M8

531633 GUARD

531753 USE - 524248

531765 SPRING

531788 PINION

700060 HEXAGON SCREW 12X45VZ (700060)

700121 LOCK NUT - USE 704537

702750 NUT

700128 WASHER

700138 USE 704538

700151 WASHER

700203 OILER

700264 BEARING

700289 ROUND HEAD BOLT 10X 60 603

700319 HEX SCREW M10X70 - USE 701508

700333 BEARING

700344 CIRCLIP

700545 BOLT- OLD 862494000

701998 WASHER OLD 704269

700122 USE 703813

701474 ROUND-HEAD BOLT 8 8X 16 VZ

701686 SCREW FLAT HEAD M5X16 (701686

701978 RETAINER RING 30X1.5 471

700331 SLEEVE - MIXER

703570 HEXAGON-SCREW M8X16 5602010

pagina 1 van 1AL-KO Concrete mixers TOP 1402 HR 112110 Year of manufacture 01/2002

1/12/2003http://www.al-ko.com/garden-hobby/parts/spareparts/best_print_actual.php4?artno=11...


